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ASG 5023 | AEG | 6 |25 7 |1250 1250J 1500 | 6000 —125 L1050 10+ 445
BT 19 'BTH 1 [ 25| 5 | 1000 1000, 500 | 2000 —6 100 ' 415+ 440
BT 75 'BTH | 1 | 2511 | 1000|1250 250 | 15000 100
BT 89 BTH 1 | 25| 5 |1000{1500| 500 | 2000 100  —40+ 480
C1K | Ele = 2 | 25| 63 1000 1250 1000 | 8000 | —4,5+ —100 =55+ +75
C3H  Ele | 7 25| 9 |1000| 1250 2800 | 20000 | — 13+ —100 —55+ 475
S13dM | AEG | 3 [25] 8 | 1000 1000 | 3000 :
3C23  amer | 10 | 25| 7 | 1250|1250 | 1500 | 6000 | —4,5+ —500 10+ 50 40 -+80
3V[340B  STCE | 1 | 25| 5 |1000| 1500 500 | 2000 — 4 25+100 +15+ 440
287 A amer | 9 | 25| 7 | 1250 1250! 1500 | 6000 —500 +30+ +80
304 Cet 8 | 25/21 | 1000 | 1000 | 12500 | 125 A| 47,5 <+ —100 440+ 480
311 Cet 10 | 25| 7 /1000 1000, 1500 | 6000 | —3,75+ —500 @ 1050 —40+ -+80
323 B8 amer | 9 | 25| 7 | 1250 | 1250 ' 1500 | 6000 —500 —40=+ +4-80
394 A amer | 4 | 2,5| 32/1250 | 1250, 640 | 2500 —4+ —100 —40+ +80
627 amer | 5 | 25| 6 | 1250|2500 640 | 2500 —500 | 60250 +25+ +70
740 amer | 8 | 25|16 | 1000 | 1250 | 4000 | 30000 —500 —40+ +80
5684 int 7 | 25( 9 | 1000| 1250 | 2500 | 30000 — 6+ —100 - —55+ +70
5685 int 5 | 25|21 | 1000 | 1250 | 6400 | 77000 |  —4,6= —100 —55+ +70
5796 amer | 7 |25 85 1500 | 1500 1600 | 20000 —250 100
6011 GE 7 125 9 | 1250 1250 | 2500 | 10000 - 6 —40+ +80
Equivalents
C3JA Elc = 5684 ELC 1 K Ele = C1K |TQ 12 BB =3C23
C 6 JIA Elc = 5685 ELC 3 H Ele = C3H | WL 5684 Wst = 5684
Cé6M Elc = 5685 ELC 3 J/A Elc = 5684 WL 5685 Wst = 5685
ceéPp Ele = 5685 ELC 6 JIA Ele = 5685 WL 5296 Wst = 5796
CE 304 Cet = 304 ELC 6 M Elc = 5685 393 A amer = 323 B
CE 311 Cet = 311 ELC 6 P Elc = 5685 610 amer = 6011
CE 393 A Cet = 323 B | FG 97 GE = RT19 | 740 P amer = 740
CT 1-500 Mul = BT 19 | KU 627 Wst= 627 1287 A amer = 287 A
5785 amer = 5685
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